Classify (09) as node, cente o, seiral | orgaddle and
Stable o unshable,

2cos 2t —2sin 2¢
X(H=¢e* +
W= [Cl( sin 2t ) Cz( cos 2 )}
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X() = 5cos 2¢ ) N ( 5sin 2¢ )
“ cos 2t — 2sin 2¢ “2 2cos 2t + sin 2¢

In Problems 916, class1fy the cnucal pomt (0, O) of the glven
lmear system by-computine-the d-determas :

=—x—~3y y=—x+1iy
15. x' = 0.02x — 0.11y . 16, x' =0.03x + 0.01y
¥ =0.10x — 0.05y y' = —0.01x + 0.05y
17. Determine conditions on the real constant psothat (0,0)is a
center for the linear system

™

X =—ux+y
Yy =—x+u.



